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D 2 (55+h)
C = (0.158—+0.017)x ———x {1.0902} x {2}
6 100
(I+=)
S
(ppm) (mg/L) (m3/hr)
(m2) (%)
25 036 33 058 25 045 2 33 063 25 007 25 042
mg/L 0.190 0.190 0.190] 0.190] 0.190 0.190 0.190 0.190 0.190] 0.190 0.190 0.190
m3/hr 2.06] 10.58 1.76 17.05] 147 13.23 1.76 18.52 2.08] 2.08] 1.76 12.35)
Sm2 49 49 49| 49 245 245 245 245 49 49 49 49
t 25.1] 25.1] 33| 33| 24.7 247 322 32.2 24.9 24.9 24.3 24.3]
h% 18 18 13 13 17 17 12 12 22 22 21 21
Ccal ppm 0.037 0.032 0.068 0.053 0.035 0.024 0.061 0.037 0.038 0.038 0.036 0.030
Cms ppm 0.035 0.022 0.071] 0.032 0.028 0.016 0.063 0.022 0.031] 0.034 0.040 0.030
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